

6.3: Separation of Variables/Differential Equations

$$\textcircled{a} \quad \frac{dP}{dt} = \frac{k}{t^2}$$

$$\int dP = \int k t^{-2} dt$$

$$P = \frac{k t^{-1}}{-1} + C$$

$$P = -\frac{k}{t} + C ; P = \frac{k}{t} + C$$

p. 420

$$19.) \frac{dy}{dt} = -\frac{1}{2}y$$

$$\int \frac{dy}{y} = \int -\frac{1}{2} dt$$

$$\ln|y| = -\frac{1}{2}t + C$$

$$\ln 10 = C$$

(0, 10)

$$x^{2+3} = x^2 \cdot x^3$$

$$e^{\ln|y|} = e^{-\frac{1}{2}t + \ln 10}$$

$$y = e^{-\frac{1}{2}t} \cdot e^{\ln 10}$$

$$y = 10e^{-\frac{1}{2}t}$$

$$\textcircled{1} \quad \frac{dy}{dx} = \frac{3y}{x^2}$$

$$\int \frac{dy}{y} = \int 3x^{-2} dx$$

$$\ln|y| = \frac{3x^{-1}}{-1} + C$$

$$e^{\ln|y|} = e^{-\frac{3}{x} + C}$$

Solve the diff. eq.

$$y = e^{-3/x} \cdot e^C$$

$$y = Ce^{-3/x}$$

$$\textcircled{2} \quad yy' - x = 0$$

$$y \frac{dy}{dx} = x$$

$$\int y dy = \int x dx$$

$$\frac{1}{2}y^2 = \frac{1}{2}x^2 + C$$

$$2 = C$$

(0, 2)

$$2 \left(\frac{1}{2}y^2 = \frac{1}{2}x^2 + 2 \right)$$

$$\sqrt{y^2} = \sqrt{x^2 + 4}$$

$$y = \pm \sqrt{x^2 + 4}$$

pick one!

because
(0, 2)
works!

$$y = \sqrt{x^2 + 4}$$

$$\textcircled{3} \quad y' - e^y \cos x = 0$$

$$\frac{dy}{dx} = e^y \cos x \quad -e^{-y} = \sin x + C$$

$$\frac{dy}{e^y} = \cos x dx$$

$$\int e^{-y} dy = \int \cos x dx$$

$$u = -y \quad -\int e^u du$$
$$du = -1 dy$$
$$-du = dy$$

$$\ln |e^{-y}| = \ln |-\sin x + C|$$

$$-y = \ln |-\sin x + C|$$

$$y = -\ln |-\sin x + C|$$

$$\frac{1}{y} = \frac{x}{2} + 5 \quad y = \frac{1}{\frac{x}{2} + 5}$$

$$\frac{1}{y} = \frac{x+10}{2}$$

$$y = \frac{2}{x+10}$$

$$\textcircled{4} \quad \frac{dy}{y^2} = (x+3)dx \quad (0,1)$$

$$\int y^{-2} dy = \int (x+3) dx$$

$$\frac{y^{-1}}{-1} = \frac{x^2}{2} + 3x + C$$

$$-1 = 0 + 0 + C$$

$$-1 = C$$

$$-y^{-1} = \frac{x^2}{2} + 3x - 1$$

$$\frac{1}{y} = -\frac{x^2}{2} - 3x + 1$$

$$\frac{1}{y} = \frac{-x^2 - 6x + 2}{2}$$

$$y = \frac{2}{-x^2 - 6x + 2}$$